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6.

PRACTICE TEST-2

A sum of Rs. 8,000 invested at 10% p.a. amounts
to Rs. 9,261 in a certain time, interest compounded
half-yearly. What will be the compound interest (
in Rs) on the same sum for the same time at double
the earlier rate of interest, when interest is
compounded annually?

10% =fties = 1 W W few * T 8000 F U, =S H
TR MUR W Fhgig fhd 5H Wt = emafy o 9261 T
B W 21 S e W gd 1 S 1 L W A W W SaAl
g safy &1 Iwgfe = fwa g, afk = &1 aifts ey

R W wwgfe & s 22
(a)Rs. 2,520 (b) Rs. 2,480
(c) Rs. 2,560 (d) Rs. 2,500

The average age of a number of persons in a group
was calculated as 35 years. which was 2.5 years
more than the correct average as there was an
error in recording the age of two persons as 38.5
years and 40 years instead of 29 years and 22 years
respectively. The number of persons in the group
was :

T U W % AfHE #1 elea ang 35 ad o, s R wel siwa
¥ 2.5 i affer off, Ffe 29 IR 22 o F T 38.5 A W 40
o o w § 3 oAl o oS e g g o wge § ot
FI Hen fha oi?
(a)11 (b) 12

(c) 15 (d) 13

2

P
IfsecO +tan0=p,0° <9 <90°, then

P+l is equal to:

Rk secO+tan0 =p,0° <9 <90° 2, g2+i
(a) cosecd  (b) sind (¢) cosd (d) 2coseco

The chords AB and CD of a circle intersect at E. If
AE = 12 cm, BE = 20.25 cm and CE = 3 DE, then the
length (in cm) of CE is :

% g9 &1 Sd1 AB @R CD fag E W TF @ &1 *redl & 9%
AE = 12 9, BE = 20.25 ¥4t 3R CE = 3DE ¥, @ CE &1
T 22

(a)27 (b) 25.5 (c) 18 (d) 28.5
Ifx+y+2z=3,and x*> + y2 + z2 = 101, then what is

HT HE 1 B2

the value of x’+y’+7z' —3xyz?

aff x +y +2z =3 3 x2 + y2 + 22 =101 2, @

JX +y +7° —3xyz I WA F M2

(a) 19 (b) 21 (c) 24 (d) 28

If 12x%2 — 21x + 1 = 0, then what is the valu of 9x?+
(16x2)1?

IfF 12x2-21x+ 1 =0 &, @ 9x2+ (16x2)"! &1 HH F1 BM?

429 465 417 453
@5 b, ©5 @5
A sum of Rs. x was divided between A, B, C and D
. . 1 . l . 1 . l
in the ratIOE-g-g-a.
shares of B and D is 832, then the value of x is :

If the difference between the

5 3 Lol 1 :
X ¥ &1 AW A, B, C 3R D &% = gggg % 3T |

famfSra fofan T o, 3FR B 3R D & @ & o9 %1 3R 832
T ? @l x 1A 22

(a)Rs. 7,592 (b) Rs. 7,384

(c) Rs. 7,696 (d) Rs. 7,488

The area of a field in the shape of a regular hexagon
is 24003 m2. The cost of fencing the field at 16.80
rupees/metre is:

TF GUYRYS & SR O fRET W H SR 240043 HE E Al

16.80 TR/ X W Wd % =R AR 91 O I @A 82
(a)Rs. 4,536 (b) Rs. 3,024

(c) Rs. 4,032 (d) Rs. 3,528

Places A and B are 144 km apart. Two cars start
simultaneously. one from A and the other from B. If
they move in the same direction, they meet after
12 hours, but if they move towards each other they

9
meet after -

3 hours. The speed (in km/hr) of the

car moving at a faster speed is:
WM A @R B &1 0 144 Torelt 81 ) R TF 99 TE F6 €, T
ANRTIBH MITE AR A & A3 12 R = AR

et el A s mm%aa% e S

B 99 A W wert wR # (e W) @2

(a)70 (b) 72 (c) 60 (d) 64

A, B and C donate 8%, 7% and 9% of their salaries
respectively to a charitable trust. The salaries of
A and B are same and the difference between their
donations is Rs. 259. The total donation of A and B
is Rs. 1,185 more than that of C. The total donation
of A and C is what percentage of the total salaries
of A, B and C? (Correct to one decimal place)%
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A, B 3R C TH =il T2 Hl Ha: 8%, 7% 3R 9% 194 da
1 TH FW § A R B &9 %1 96 THF § 3R IH F d9 3R
259 T Bl A 3R B &1 & <9 C HI o | 1185 &3 31fers
21 A 3R C 1 %6 1 A, B 3R C & Fe 94 &1 o1 % 2
(a)6.2% (b) 5.8% (c)6.4% (d) 7.1%

Four men and 6 women can complete a certain

piece of work in 5 days whereas three men and 4
women can complete it in 7 days. How many men

1
should assist 25 women to complete 25 times the

same work in 5 days?
IR IEY IR 6 Hieed 5 & ¥ wh wm w1 uw et
T F R € Wl diF gET 3R 4 Afeed @ 7 A ¥ @

THhd €, 5 A | 2% T W HE % o e gEw @R 25
Afeenstt F1 TEEA F 2

(a)8 (b) 10 (c) 4 (d) 5

In a triangle ABC, ZB= 72° and 4£C =44°. Side BC

is produced to D. The bisectors of /g and ZACD

meet at E. What is the measure of /BEC ?

s 1S ABC H, /B =72° 3R £C =44° 3R BC #I D %

TR T €, /B R ,ACcD ® g9 E ¥ faer €, /BEC

1 AW F 7?2

(a) 58° (b) 46° (c) 32° (d) 36°

In AABC, AC = 8.4 cm and BC =14 cm, P is a point

on AB such that CP=11.2 cm and ZACP =~ B. What

is the length (in cm) of BP ?

AABC ¥, AC = 8.4 cm 3R BC =14 cm, P, AB W T% fag

2 9 fF CP=11.2 ¥# 8k ACP = /B . BP #1 @ (I

H) 1 7?2

(a)4.12 (b) 2.8 (c) 3.78 (d) 3.6

If 2x2 + y2 + 822 — 22xy +42yz— 8zx = (Ax + y + B2)?,

then the value of (A% + B2 — AB) is:

A 2x2 + y2 + 82% — 2\2xy + 42yz— 8zx = (Ax + y + Bz)?

%, d (A2 + B2 — AB) &1 HH ¥ @2

(a)16 (b) 14 (c) 6 (d) 18

How many numbers are there from 200 to 800

which are neither divisible by 5 nor by 7?

200 ¥ 800 T feheft Gead € S A @ 5 @ fawm € @R A &

7 92

(a) 407 (b) 410 (c)413 (d)411

The value of

8+[(8-3)+{(4+40f8)+4-4x4+8-2]
8x8+4-8+80f2-7

is 1 °H 27

17

16
@5 —

© 170

w | oo

2
@ 17

17. A sells an article to B at a loss of 20%. B sells it to
C at a profit of 12.5% and C sells it to D at a loss of
8%. If D buys it for Rs. 248.40, then what is the
difference between the loss incurred by A and C ?
A, B =l 20% 1 811 W U =% d=al €, B 39 12.5% & o4
W C H dual € AR C IH 8% I & W D =l swal 21 AR
D T 248.40 T & fod @liwan €, @ A 3R C 510 fFd ™
TR & d= R 22
(a)Rs. 36.80 (b) Rs. 38.40
(c) Rs. 42.60 (d) Rs. 39.20

18. If 7cos?p+ 3sin?p= 6, 0° < < 90°, then value of

cot’20+sec’20
tan’20—sin>20 ">

. . cot’20+sec’20
Ifg 7cos? 9+ 3sin2p=6,0°< 9<90° T, A —5———————
tan® 20 —sin” 20

FT A B2
2026 8 W
(@) 37 (b) 73 (©) 37 @ %
19. Two circles of radii 7 cm and 5 cm intersect each
other at A and B, and the distance between their
centres is 10 cm. The length (in cm) of the common
chord AB is :
e & < 99 7 9t @R 5 9t U W A A 3R B # sied
g, 3R T H F " F X 10 9W 7, ST Sfer AB

FI o 82

(a) ”5& (b) ”5% (©) Nsﬁ (d) Nsﬂ

20. If the selling price of an article is 8% more than
the cost price and the discount offered is 10% on
the marked price of the article, then what is the
ratio of the cost price to the marked price?
afg et oeg 1 foha goa Su% %9 Tod 9 8% Afw § @R
Wi B2 39 9% Afhd ed H 10% € 9 56 F9 qed H
Iq+ fehd god ¥ A ST ©?

(a)5:6 (b) 8:9 (c)3:4 (d)4:5

(cos9°+sin81°)(sec9°+ cosec81°)

21. The value of Sin?63° + 12 25in227° is: @1 HH
=grm?

i 4
(a) 5 (b) 3 ()2 (@1

Directions(22-25) : The given table represents the
production of different types of motorcycles (in
thousands) over a period of six years. Study the table
carefully and answer the question that follows.

& T e B8 A w ety | fafim weER # AewniEd (SR
H) & I 1 WA FER B AR F ARG S FE IR S
T T W D2
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Years —= | 2013 | 2014 | 2015 | 2016 | 2017 | 2018
Motaorcycles

| (ype) ¢
A o5 84 85 89 80 o8
B 98 87 29 88 96 o2
[ o 104 | 89 95 92 100 110
D 103 100 102 95 104 120

22. During 2015, the production of which type of

23}

Page 3

motorcycle was more than 25% of the total
production of all types of motorcycles in 2017?
2015 & 3RM, fF9 YHR FT HiewrfEa F1 3 2017 § Feft
YHR I HEEFA & Ha SR H1 25% 9 Afus o
(a)A (b) B (c)C (d)D

What is the percentage increase in the total
production of all types of motorcycles from 2014 to
2018?

2014 | 2018 T |l YR HI H@EfF & FHA ST o
wfawa afg =0 22

Maths by Bhagwati Prasad Sir

24.

23:

(a) 14% (b) |7% (©) ]6% d 14%

By what percentage is the total production of type
A motorcycles over six years, less than the total
production of all types of motorcycles in 2013 and
20167

2013 ¥R 2016 % Tf TR 1 HERFA F FHA ST H
o H, BT el § A Hiewmsihal &1 Fa 3ced gfavd 9 fhan
F1 22

(a)32.2 (b) 32.8 (c)31.6 (d) 30.5

What is the ratio of the total number of motorcycles

of type B produced in 2016 and 2018 to the total
number of motorcycles of type D produced in 2013,

2015 and 2016? 2016 3R 2018 H Ifed B VR &1

TRIERRRE 1 FHel W@ a9 2013, 2015 3R 2016 H Seqfed D
YRR i el HERREl H1 SE 7
(a)1:2 (b) 3:4 (€)8¢5 (d2:3
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1.(c)

Solution

R n
= P|1+—
& [ 100)

Half yearly :

2.(a)

3.(b)

4.(a)

10
Rate = 7 Tha 5%

Time = 2n yrs

5 2n
= g S
9261 8000[ +100)
9261_ [2)3_ (2 2n
8000 (20 |20
2n = 3 yrs
. 3
Time = n = 5 yrs
1
= New Rate = 10 x 2 = 20% = 5
= Let Principal = 5% = 25
25
I II
5 5
\1
C.I fi 2 =5+ 6 x 2 8
I for 5 Yrs = e

= 25 units - Rs 8000

1 unit—» Rs 320

8 units » 320 x 8 = Rs 2560

-.Compound Interest = Rs 2560

Let total no. of persons = x

Total age = 35 x x — 38.5 - 40 + 29 + 22 = 32.5xx
2.5x = 27.5

x=11

secy +tang =P sall)

secg —tang =
Solve (i) and (ii)

1 .
P ....(ii)

1
2secg=P + P

; Perpendicular = P? - 1

6.(c)

AE x BE = CE x ED

12 x 20.25 =3x x x

3x2=3x4x45%45

x=2x45=9cm
=>CE=3x=3x9 =27 cm

X+ Yz =8 i %2+ +22= 101
=(at+b+c)?2=a?+b2+c?+ 2ab + 2bc + 2ca
32 =101 + 2(xy + yz + zx)

9 - 101 = 2(xy + yz + zx)

(xy + yz + zx) = - 46

=a*+ b*+ c®*— 3abe
=(a+b+c)a?+ b2+ c2- (ab + bc + ca)]
>x+y’+23-3xyz=(x+y+2) [x2+y*+22- (xy +
yz + zx)]

x3+y3+2z2-3xyz=3 x [101 +46]

=3 x 147 = 441

Squaring both sides

= X +y +2 -3xyz = 21
12x2-21x+1=0
12x%2 + 1 =21x

1
12x + — =21
X
Divide by 4 both sides
)
R 2y 4
Squaring both sides
NPT I .. S
T T 4
o SRl @
)
.y
~ 16
A:B:€ D—l'l'l'l—30'18'15'10
35769 : * E

= Difference between the shares of B and D
= 18 — 10 = 8 units » Rs 832
1 unit » Rs 104
— Total = 30+18+15+10 = 73 units—» 104 x 73
= Rs 7592

3
8.(c) Area of Hexagon = 6 X%az = 24003

a2 =400 x 4
a=20x%x2=40 cm
Perimeter of Hexagon =40 x 6 = 240 cm
cost of fencing the field= 240 x 16.80
= Rs 4032
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9.(a) Distance = 144 km
Relative speed in opposite direction = S + S,
Relative speed in same direction = S - S,

= 144 _ 12 km/hr
12

S-S

1 2

S, +8,= 14‘;"8 = 128 km/hr
S, =70 km/hr ; S, = 58 km/hr

10.(b) Difference of A and B donation = 8% - 7%
= 1% — Rs 259
100% — Rs 25900
Salary of A = Salary of B = Rs 25900
'C' donation = 7.5% of 25900x2 — 1185

3
=" 25900 x 2 - 1185

= 3885 - 1185 = Rs 2700

9% — Rs 2700

1% — Rs 300

100% — 30000

Total A, B and C salary

= 25900 + 25900 + 30000 = 81800
Donation of A and C = 8% of 25900 + 2700
= 2072 + 2700 = Rs 4772

4772

81800

11.(d) (4M + 6W)x5 = (3M + 4W)x7
20M + 30W = 21M + 28W
1M = 2W

M 2

w1

= Total Work = (4x2 + 6x1)x5
= (8 + 6)x5

14 x5 =70

Required % = x100 = 5.8%

]

5
= New Total Work = 70 x B 175

(xxM + 25W)x5 = 175
xx2 + 25x1 = 35

2x = 10

Xx=395

12.(c)

In AABC
/A+ sB+ ,C=180°
2 A=180° - 72° - 44° = 64°

BEC= 2. & _ 3
el S 2 4

13.(c)

AAPC - A ACB

AP _PC _AC
AC BC AB
AP _PC

~ A€ BC

AP 11.2

8.4 14
AP =11.2 x 0.6 = 6.72 cm

84
AB = — =10.5cm
~BP=10.5-6.72=3.78 cm

14.(b) 2x% + y* + 822 — 2\2xy+4\2yz— 82zx = (Ax + y + Bz)?

= (A\/§x)2+ y2 + (2\/52)2 g \/_Q_x Xy + 2xyx (2\/52)_

2x (—\/Ex) x (2\/52)

[~(@a+Db+c)?=a%+Db?+c?+ 2ab + 2bc + 2ca]

= (—\/§x+y+2\/§z)2 = (Ax +y + Bz)?

=5 (—\/Ex+y+2\/§z)=Ax+y+Bz

Compare the value of 'A' and 'B'

A=-2 ;B=2/3
= (A% + B* - AB) = (—2) +(2v2) - (-v2) x(2¥2)
=2+8+4=14
i L=k
15.(d) No. of terms divisible by 5 = D +1
795 -205
(205 & 795) =T+l =118+ 1=119
- No. of terms divisible by 7 = L_) +1
798 -203
(203 & 798) = — +1 = 86

= No. of terms divisible by both 5 and 7
L.CMof5and 7 = 35
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770-210 : L s
(210 & 770) = T+1 =17 sing= = sin30
= Total no. of terms divisible by 5 and 7 6=30°
= 110486 =17 = 188 cot’ 20 +sec’ 20 cot” 60° + sec” 60°
= No. of term in b/w 200 and 800 = tan’20-sin’20  tan®60° - sin® 60°
if
799 -201
= ——=—+1=1599 3t +19x4 s
1 Ty ] e AL
. Required Terms (neither divisible by 5 nor by 7) i 4 (12-3)x3 = 27
= 599 - 188 =411
8+[(8-3)+{(4+40f8)+4-4x4+8)-2] 19.(b) A
16.(b) 8x8+4-8+80f2-7 1‘_\\
8+ 5+{(4+32)+4—4xl}—2:| ‘?
= L 2 B
8x2-8+16-7
B 1 In AAOP
8+ 5+{—+4—2}—2}
_—L I8 g @tbre 7+5+10 22
l6—%—7 C 2 2 = 2
8;_5;{1“6}_2} Area = \[S(S -a)(S-Db)(S-c¢)
| Ea—
= T 33.1-1a = J11(11-7)(11-5)(11-10)
- 82 = J11x4x6x1
Bu| Sg—ni?
M T } =266
- 17 Side AC :
° 1
8;-40_34} Area = — xbasexheight
“l 47 =
= u 1
2 2./66 = 5% 10 x AC
17
sz
266
= L AC = \/_cm
5 5
8x17x2 8
= = o 266 466
17x6 3 ChordAB=2xAc=2x?‘/_=Tcm
17.(b) A B C D
5+ 4 20.(a) P 100-Dis
% i ® (@ 3P = 100+ Pro.
25 & 23 _100_10_2 _é
250 ; 0200 : 225: 207 © 100+8 108 6
207 units—> Rs 248.40 ~.Required ratio = 5 : 6
1 unit— Rs 1.20 (cos9°+sin81°)(sec9° + cosec81°)
50-18=32 units » 32 x 1.20 = Rs 38.40 21.(b) 25in%63° + 1 25in 2270
-.Required Answer = Rs 38.40
18.(a) 7cos?p+ 3sin’p= 6 _ (c0s9°+c0s9°)(sec9° +sec9°)
7 — 7sin%g+ 3sin?g= 6 T 2sin%63°+ 1+ 2¢0s%63°
4sin%9= 1 i
_ 1 2(cos()°)( o)
sinp= — i c0s9
* 2(sin?63° + c0s%63°) +1
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24.(d) Total production of type A motorcycles over six

=sz+1=§ years = 95 + 84 + 85 + 89 + 80 + 98 = 531
Total production of all types of motorcycles in

22.(d) Total production of all types of motorcycles in 2013 and 2016 = (95+98+104+103) +

2017 =80 + 96 + 100 + 104 = 380 (89+88+92+95)

25% of the production = 25% of 380 = 95 =400 + 364 = 764

~.Only 'D' type motorcycles is more than 95. 764 — 531
23.(c) 2014 - 84 + 87 + 89 + 100 = 360 - Required % = ——=2—x 100

2018 598 + 92 + 110 + 120 = 420

; 420 - 360 - & x 100 = 30.5%
- Required % = —— = x100 764

25.(c) Total number of motorcycles of type B produced
in 2016 and 2018 = 88 + 92 = 180
- Total number of motorcycles of type D produced
in 2013, 2015 and 2016 = 103 + 102 + 95 = 300
~.Required Ratio = 180 : 300 =3 : 5

—ﬂXIOO—IGE"/
~ 360 = R
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